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QUESTION 1

What are two benefits of virtual networking? (Choose two.) 

A. Limited network infrastructure scalability 

B. Limited workload mobility 

C. Reduced provisioning time 

D. Increased complexity 

E. Increased network visibility 

Correct Answer: CE 

 

 

QUESTION 2

What does NSX-T provide to a telecom provider\\'s network services related to network throughput? 

A. Higher performance 

B. Higher recoverability 

C. Higher security 

D. Higher availability 

Correct Answer: D 

 

 

QUESTION 3

A customer needs to manage and extend their data center network into VMware Cloud on AWS and Microsoft Azure
Cloud. Which VMware product should the customer use? 

A. NSX Cloud 

B. NSX Intelligence 

C. vCloud Director Extender 

D. vRealize Network Insight Cloud 

Correct Answer: A 

Reference: https://www.vmware.com/products/nsx-cloud.html 
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QUESTION 4

Given this exhibit: 

Which statement is true about the host transport nodes? 

A. sa-esxi-04.vclass.local is successfully prepared for NSX with a TEP address of 172.20.11.151. 

B. sa-esxi-02.vclass.local is successfully prepared for NSX with a TEP address of 172.20.10.52. 

C. sa-esxi-05.vclass.local is successfully prepared for NSX with a TEP address of 172.20.10.55. 

D. sa-esxi-03.vclass.local had an error while being prepared for NSX with no TEP address assigned. 

Correct Answer: D 

 

QUESTION 5

What does a customer need to configure to create GENEVE backed segments using NSX-T Data Center? 

A. VLAN Transport Zone 

B. Virtual Distributed Switch 

C. Virtual Standard Switch 

D. Overlay Transport Zone 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-Validated-Design/6.1/sddc-architecture-and-design-for-a-vsphere-with-
tanzu-workload-domain/GUID-B1A08A06-F475-436B-8BA4-31552450D63C.html 

 

QUESTION 6

A customer needs a language-independent way to observe, automate, secure, and control microservices. Which
product can help? 
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A. NSX Service Mesh 

B. NSX-T Data Center 

C. VMware HCX 

D. vRealize Log Insight 

Correct Answer: A 

 

 

QUESTION 7

A customer needs help detecting lateral threat movement on east-west network traffic across multi-cloud environments.
Which solution should the customer use? 

A. VMware HCX 

B. NSX SD-WAN 

C. NSX Distributed IDS 

D. NSX Intelligence 

Correct Answer: C 

 

 

QUESTION 8

A customer needs to secure its micro-services. 

Which feature does NSX Data Center offer to help achieve this requirement? 

A. Micro segmentation enforcement at container level 

B. Integration with third-party vendors 

C. Service Insertion for Containers 

D. Easy Operation of Containers 

Correct Answer: A 

Reference: https://www.agilis.com.tr/vmware-nsx-data-center.html 

 

QUESTION 9

Which two statements are true about N-VDS/VDS? (Choose two.) 
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A. KVM hosts support both N-VDS and VDS. 

B. It is a module deployed in all transport nodes that provides L2 functionality. 

C. It is a module deployed in all transport nodes that provides L3 functionality. 

D. ESXi hosts support both N-VDS and VDS. 

E. Bare-metal servers support both N-VDS and VDS. 

Correct Answer: CD 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.3/com.vmware.nsxt.install.doc/GUID-
F47989B2-2B9D-4214-B3BA-5DDF66A1B0E6.html 

 

QUESTION 10

What are three types of transport nodes in NSX-T? (Choose three.) 

A. NSX Edges 

B. NSX Controllers 

C. Physical routers 

D. Bare-metal servers 

E. NSX Managers 

F. Hypervisors 

Correct Answer: ABE 
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